
qm=;+= ljj/0f nfut /sd ?=  s}lkmot

1 cw'/f] /fdhfgsL d7df lgdf{0f ;fd'bflos ejgdf emofn–9f]sf,

kvf{n, u]6, rkL{, jfol/Ë, /+u/f]ugsf] nflu
700,000.00          

2 a|xd6f]nsf] ;fd'bflos ejgsf] 5t lgdf{0fsf] nflu 600,000.00          

3 afnuf]ljGb ljBfnosf] hUufdf ;fd'bflos ejg cw'/f] ejg lgdf{0f 400,000.00         

4 db/;f{ sf] 5t 9nfg 1,000,000.00       

5 lzj rf}s b]lv dxlhb ;Dd gfnf 350,000.00          

6 s]bf/gfy ;fxsf] b'sfg b]lv lj/]Gb| ;fx sf] 3/ ;Ddsf] gfnf lgdf{0f 550,000.00          

7 lzj dlGb/ b]lv ljBfno glhssf] sNe6{ ;Dd gfnf lgdf{0f 2,000,000.00       

8 bf]gjf/L 6f]nsf] lszf]/L ;fx t]nLsf] 3/ b]lv ;'vn 7]Ssbf/sf] 3/

;Dd
500,000.00          

9 blnt a:tLdf ;fd'bflos ejg lgdf{0f 300,000.00          

10 vfg]kfgL xof08 kfO{k h8fgsf] nflu 300,000.00          

11 ljB'tkf]nsf] 9'jfgLsf] nflu 100,000.00          

12 /+unfn d08nsf] 3/ b]lv ljnf; d08nsf] 3/ ;Dd df6f] k'g]{ sfo{ 100,000.00          

13 nfnafa' d08nsf] 3/ b]lv ab|L d08nsf] 3/ ;Dd cw'/f] af6f] kSsL

9nfg
400,000.00         

14 /fd k|x+; ;fxsf] 3/ b]lv hghfu/0f o'jf Snj ;Dd gfnf lgdf{0f 400,000.00         

15 rGb]Zj/ ;fx t]nLsf] 3/ b]lv d'g]Zj/ ;fx t]nLsf] 3/ ;Dd gfnf

lgdf{0f
300,000.00          

16 a|xd:yfgsf] kvf{n lgdf\[0f 187,500.00          

hDdf 8,187,500.00       
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